
　　　　　　　 :اسم النتيجة 　　　 :تاريخ: 　　　　　　

(حساب الأسس (الأس السالب

5 + 2 =2 9 − 6 =(−2)

8 + 5 =(−2) (−9) − 8 =2

3 + (−9) =(−1) (−10) + 3 =0

(−6) + (−2) =2 (−6) − 9 =2

(−2) − (−7) =2 3 − (−8) =(−2)

(−10) + (−9) = (−4) + (−9) =(−2)

(−2) + 8 =2 (−3) + (−7) =(−2)

(−7) − 10 =(−1) (−7) − 7 =2

8 + (−5) =(−1) (−1) − 8 =

(−1) + (−2) = 2 − 7 =2
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(حساب الأسس (الأس السالب

5 + 2 = 272 9 − 6 = (− ) = (−5 )(−2)

81
485
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80

8 + 5 = = 5(−2)

64
321

64
1

(−9) − 8 = 732

3 + (−9) = (− ) = (−8 )(−1)

3
26

3
2

(−10) + 3 = 40

(−6) + (−2) = 342 (−6) − 9 = 272

(−2) − (−7) = 112 3 − (−8) = = 8(−2)

9
73

9
1

(−10) + (−9) = (−19) (−4) + (−9) = (− ) = (−8 )(−2)

16
143

16
15

(−2) + 8 = 122 (−3) + (−7) = (− ) = (−6 )(−2)

9
62

9
8

(−7) − 10 = (− ) = (−10 )(−1)

7
71

7
1

(−7) − 7 = 422

8 + (−5) = (− ) = (−4 )(−1)

8
39

8
7

(−1) − 8 = (−9)

(−1) + (−2) = (−3) 2 − 7 = (−3)2
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